[]

o 14
c O
s

= 12
=R

£ 510
OCU
m

8

6

4

2

0

-2

-4

—A

2
0))]
<
—
I—
<

o 1
o
&
e

0.5

8000 GeV pp Jets
T L I B B I LI LI I B B
B AverageA N, (pT>5, central-forward, | < 2.1) 7]
B m ATLAS ]
—  --3-- Herwig 7.2.0 default 7
- A Pythia 8.170 default N
— ¢ Sherpa 2.1.0 default —
- " -
u mn B N | | _:
B m Bl
SN N I e e
o K =
- A .

" 1 1 " | " 1 " " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1

0 500 1000 1500

Jet P, [GeV]

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


